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const array = [ -3, -2, -1, 0, 1, 2, 3 ]

array.forkach((it) => {
if (it »>= 09) {
console.log(it)

return
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const array = [ -3, -2, -1, @0, 1, 2, 3 1]

array.forEach((it) => {
if (it >= 0) {
console. log(it)
return
}
})
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Array.prototype.forkEach2 = function (callback, thisCtx) {
if (typeof callback !== '"function') {
throw ~${callback} is not a function®

}

const length = this.length
let 1 =0
while (i < length) {

if (this.hasOwnProperty(i)) {

callback.call(thisCtx, this[ i ], i, this)
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const funcl = () => {
console.log(1)
return

}

const func2 = () => {
funcl()
console.log(2)

}
func2()
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console. log(1)
return
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const func2 = () => {
funcl()
console. log(2)
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const array = [ -3, -2, -1, 0, 1, 2, 3 ]

try {
array.forEach((it) => {
if (it >=09) {
console.log(it)
throw Error( We've found the target element.’)

}

})
} catch (err) {

}

const array = [ -3, -2, -1, @, 1, 2, 3 1]

try {
array.forEach((it) == {
if (it >= 0) {
console.log(it)
throw Error( We've found the target element.’)
¥
})
} catch (err) {
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const array = [ -3, -2, -1, 0, 1, 2, 3 ]

array.forEach((it) => {
if (it >= 0) {
console.log(it)
array.length = 0
}
})

const array = [ -3, -2, -1, @, 1, 2, 3 1]

array.forEach((it) => {
if (it s= 8) {
console. log(it)
array.length = @
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const array = [ -3, -2, -1, 0, 1, 2, 3 ]

array.forEach((it, i) => {
if (it >=09) {
console.log(it)

array.splice(i + 1, array.length - i)
}
})

const array = [ -3, -2, -1, 0, 1, 2, 3 ]

array.forEach((it, i) => {
if (it == @) {
console. log(it)
// Notice the sinful 1line of code
array.splice(i + 1, array.length - i)
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1. for

const array = [ -3, -2, -1, 0, 1, 2, 3 ]

for (let i = 0, len = array.length; i < len; i++) {

if (array[ 1 ] >= 0) {
console.log(array[ i ])

break
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>
const array = [ -3, -2, -1, @, 1, 2, 3]
for (let i = @, len = array.length; i < len; i++) {
if (arrayl[ i ] >= 0) {
console. log(array[ i 1)
break ‘
}
}
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2. some

const array = [ -3, -2, -1, 0, 1, 2, 3 ]

array.some((it, i) => {
if (it >=09) {

console.log(it)
return true

const array = [ -3, -2, -1, 0, 1, 2, 3 ]

array.some((it, i) => {
if (it >= 0) {
console.log(it)

return true (gmm—
}

})
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